CE-A (MR 2

MO H| - MAH ArEEe] M|

ZH™A B

4% NHEF 9 52 HHSEH= Hl
R CH7 (& 7| At 09202011993T HYA
AL A 2t stetpEstn £ 24Xt
584
E¥SEIPN| 128 11
AEHE 53 X EYsE(H/a)| EDtOIR
1 X EAMN 0.004 o gt
2 EXEAM 0.003 oot
3 X EA M 0.003 ajgt
4 XA 0.002 ojgt
5 Al 0.006 ojgt
6 =97 s 0.004 ojet
7 H7|§ gtET 0.005 o gt
8 7|8 gtET 0.005 o|gt
9 AT e 0.004 o| gt
kel
10 HAETH Ao 0.002 a| gt
SAME 0 0




H X YRS E)

=
-

O
=X

=
=




e e
MG - A AFRE] MHH|M ZHAD BN
B (BMA EEh
49 HES Y 53 AHESEH= Hl2
454 CHZ (& 7| AL 09202011993T EXAL
AA| 2 stetatEstar ¢ 24Xt
CE5FE0
EHAUA| 128 12¢
NEHS =¥ NH ZHSE(H/m) ni{e R

1 EXEAM 0.003 ojot

2 EREA M 0.003 nllely

3 HI|EAH M 0.002 o| 2t

4 SR EH M 0.004 o| o

5 THIEFH Mo 0.003 oot

6 TATTH Mo 0.005 ojat

7 S| T 0.004 o2t

8 2| Mu| 2+ 0.002 oot

9 SY7| HiET 0.006 o2t

E¥d1

10 7| gET 0.003 ojgt

11 HZ|g gET 0.004 oot

12 H7|g 2E3XH 0.003 oot

13 o7& E3AH 0.005 ot

TAE 0 0




&3 X AKI(EAE)

K
oF




MEOHA - HAH ArH 2

CSER (24 A 2

A oiH|

=1 L=

M SHA N

49 e = AHHSEHz H|31
e d CH7|EHE 7| AL 09202011993T 587
A 2 sttt F¢ 24Xt
CE-E
EHYA 128 13¢
NEHE 54 XF SHEZ (/o) nije]
1 SR BA M 0.003 ojgt
2 X ZA M 0.003 ojgt
3 EX|EA 0.005 ojgt
4 SR EAN 0.004 ojgt
5 e EFEY Ao 0.006 ojgt
6 YT de 0.002 ojgt
7 284y g+ 0.003 o| gt
8 o ddy 0.005 o|gk
9 H7|g s 0.004 ojgt
SHEAL
10 H2g gts7 0.004 aj gt
11 H7|E st 0.003 ojgt
12 H7|§ 2EXF 0.005 sl
13 H7lg 2RXE 0.002 of gk
14 =97 Bz 0.003 o|gt
15 Y7 HiEF 0.004 0|2t
BAE 0 0




=3 XA YK(EAE)

=M
=
oI
I
=0
oF

7| =

o
%0
KIr




